Optimum Design of Side mirror
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Step?2 : Data and information collection

w, = FIEAE 11800 mm
L L. = #rEAt ol : 4650 mm
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L, = 27819t side mirror™ix| M= 2| : 600 mm
Wy = &IR[QL side mirrorM®| 712 12| :1100 mm
W, = E2E 0| :3500 mm
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Step3 : Identification/Definition
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| : side mirror2l]

ol

[l

g : side mirror2l 1=
X

I' : side mirrorl] =E B'R|E

Car




Step4 : Identification of a Criterion to Be Optimized

Minimize .
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Step4 : Identification of a Criterion to Be Optimized
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Step4 : Identification of a Criterion to Be Optimized
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Step5 : Identification of Constraints
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Result(Left method)
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Result(Left _initial) o
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Result(Right)
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Set x=0.385 rad Set x=? rad
(22.06 ) (?°)
L=0.164 m L=0.18 m
r=0.6148 m r=0.56 m
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